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ALLOWING OR
NOT ALLOWING
TO COME

Father! Brother and sister-in-
law are arriving from Vi-
jayawada. Aren't they? I will

go to the station.

Go. Do you know what to do

to go to the platform?

I know it father. If we want to go
to the platform we have to buy
a platform ticket. Unless we
show it, will they allow us in?
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Lesson 52

Their allowing or not allowing is
not our concern. It is our
reponsibility to buy a platform
ticket to go in.

But, when I went earlier along
with sister, they allowed in
without a ticket. Nobody

asked for it.

They might not have asked you
thinking that you bought the

ticket.

Younger brother also wants to
come with me, father!

Let him come. Be careful when
you cross the roads. Don't
allow him to go alone any
where.

Yes, father.

Father! Brother is going to the
station. I will also go with

him.

Okay! You can also go.

Ravi! Come here. Call brother

also. You can have your food.

Brother! I will also come to the
station with you this evening.

I will see the train.
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Taw 1 @A Sr@ITR. DS, @S0 Okay! You can see it. Let us

oo, © 553& PN go and have our food. Moth-

er is calling us.

DRILLS

a. Repetition drill
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b. Substitution drill

Model (i) Model (ii)
A8 SrErcl A0 D THO8 TATHD? ()
Eolecy D) DSG S0O8 FTEH?
AB TR 1. 65030 dSG & DRACHO
i DNATE0? (e9ckorDd)
S0 2. 85008 R FE 5P
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T BB, (Fomg)
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c. Response drill

Model (i)
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Model (ii)
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EXERCISES

D ays woers. (en-5tp)

T & D85S FoTTrd. (ermr-wcod)
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3 W WY TTO. (DT SI-ED)

a. Change the following sentences as shown in the model.

Model oSS 08Ny Sotrc. (R)
S0 So|FEpblo 08I SSAT .

b
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b. Give your responses for the following sentences by changing the
verb form into permissive form as shown in the model.

Model
$09; e BI. 3. g T T
Yy ) 9 B, 4. 05 B9 5528 TEos.
1. 98 & go S 5. 208 SHO8 TTO.
2. 08> 2088 LT 6. DI STEPES 2THOLNOR.

¢. Answer the following questions as shown in the model.

Model (i) TS WOE 5008 o D0ITgO? (E8)e-5d)
TOTE D08 dmeodl Gy §TO.
1. Sron® d¢)ood 0o D0TEO?  (2:00)-d8)
2. @30 $00od Jo BAEO? (©30-8)
3. 2380 S0l Jo DIr®? (Bo0c-&E')
4. B00 IrEned TT0H Jo DATEO? (eFr-wScod)

Model (ii)

A 20838 dFp. 2. 330 VIS Srrlo.

39 HRIHM. 3. W0 JTrn&soHhen &oEro.
1. o =% sheo. 4. 330 E50085 DTS
VOCABULARY
J&erS0  platform olecoin) to leave
>0 to cross (v.tr.)

GRAMMAR NOTES

52.1. In this lesson the permissive base of the verb is introduced. The
permissive base is formed by adding the auxiliary 293 7vvu to the infinitive
form (29.1.) of the verb. The verbal base 2)5 7vvu 'to give' (Lesson 7)
functions here as an auxiliary.
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Lesson 52
Permissive base — Infinitive form + 2g 7vvu

DOoWS 1 WORS (29.1.) + Yy = oY (52.1.1.) 'allow to do'

ceyyi : ceyya + ivvu = ceyyanivvu
52.1.1. A glide S ncomes in between the infinitive and the auxiliary 28 /vvu.
EY + AY; = DE)-9-AYg = )Y 'allow to go'

vellu + ivvu = vella-n-ivvu

S0+ AYE = SrG-S-AYg=  BIEAYS 'allow to see'
ciidu + ivvu = cida-n-ivvu

T+ ad; = TF-o-adg = 008 'allow to come'
3+ Ivvu = ra-n-ivvu

=

S0 + AYg = Sod#-S-aP; = oYy 'allow to meet
kalus + 1vwu = kalava + 1vvu = kalava-n-ivvu

* o° r4 1s the infinitive form of the base T° r7 'to come'. (See 29.1.; 3.13.1.
O+ ® =0 1a+a-=ia
# 80 kalava is the infinitive form of the base $00% kalus 'to meet'. (See
33.3.;335)
00 + ©@ = $00-® = $oo-® = 0
kalus + a = kalas-a =kalav-a
52.1.2. All the changes that occur in the verbal base 259¢ 7vvu before

various suffixes (see 33.6.) will also occur in the permissive base, since it ends
in ¥Ys ivvu.

VY + VWO = VL0 'allowing to go'
vellanivvu + a aM = vellanivva aM (2.12.2)

SAV E)VIS- 'Let Ravi go; Allow Ravi
ravini vellanivvu. to go.'

S AT, (28— -d) 'He will allow Ravi to go.

ravini vellanistadu. (vellanivvu-ta-du)
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S TN, (2¢)AYg-2-) 'T allowed Ravi to go.
ravini vellaniccanu (vellanivvu-a-nu)
SIV E)ITO 'Let us allow Ravi to go.'

(28)95-o = 2EHIS-T0 = 2%IG-0) (33.6.; 26.7.)
ravini vellaniddaM (vellanivvu-daM = vellanis-daM = vellanid-daM)

52.1.3. In imperative inferior affirmative singular, the auxiliary @9g /vvu

has a variant in <= 1.

5@?@3@51 / Z)%‘be! vellanivvu!/vellani 'Let (someone) go!'
&3¢S/ e adanivvul/adani! Let (someone) play!'
T3/ o ranivvul/ranr! 'Let (someone) come!'
aéséﬁo@g! / '&&53?31 fvvanivvul/ivvani! Let (someone) give!'

52.14. The permissive verb takes a direct object (20.2.3.) like the infor-
mative base (31.3.; 31.7.), and the direct object will be in accusative case.

I oo F0d8 TAmH.  Tallowed Kamal to come inside.
nénu kamalanu lopaliki ranicczenu (52.1.3)
Qg B ATErceda)s/ aﬁs"&zéb. "You allow Ravi to talk.'

nuvvu ravini ma ladanivvu/ma ladani.

52.2. —e8PS0 -akapova aM is added to the base to form the nega-
tive form of the gerund (-e¢0 /-0 -a aM/-va aM form; see 25.1.).
D) + OEPFIL0 = IS0 'not going'
vellu + akapova aM = vellakapova aM (2.12.2)
O + EPIL0 = TEIPILO0 'not coming'
13 + akapova aM = rakapova aM (3.13.1))
M + EPIL0 = &SR S0 'not asking'
adugu + akapova aM = adagakapova aM (2.12.2.; 15.5.1.)
0 + EPIL0 = EOSIEPES0 'not meeting'
kalus + akapova aM = kalavakapovataM (33.3.; 33.5.)
BN + OEPIL0 = BESED S0 'not opening'

teruc + akapova aM = teravakapova aM  (33.3.; 34.3.)
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Lesson 52

Gerund forms Negative Gerund forms
&3¢0  tina aM 'eating' SSETES0 tinakapova aM 'not eating'
oS0 rava aM 'coming' TERSE0 rakapova aM 'mot coming'

DO)SE0 ceppamana aM | DS0SEL S0 ceppamanakapova aM

'asking to tell' 'not asking to tell'

SEININONIAG USG50 B3¢0 (52.1.)

ponivvamana aM ponivvamanakapova aM

'asking to allow to go' 'not asking to allow to go'

52.3. -e08& -aM éis added to the obligatory form (20.1.) to form
obligatory conditional.

Obligatory conditional — Obligatory form + -e90& -aM é

)0 + @08 = Iyeod) 'if (somebody) has/have to go; if
vellali + aM é = tellalaM é (2.12.2.) (somebody) must/should go'

523. -Q0YMQ -duvugani in singular and -8 -durugani in hon-
orific singular and plural are added to a verbal base inorder to express an
assurance to the listener. The -0 /- -duvugani/-durugani form
of the verb takes the subject in second person only, like the imperative.

(0995) ectoracsoYm 'All right, you (sg.) may/can ask.
(nuvvu) aduguduvugani
(o) @& 'All right, you (pl.) may/can ask.

(miru) adugudurugani

B + VIR = S0HTD 'All right, you (sg.) may/can eat.'
tinu + duvugani = tiMduvugani  (26.6.[iii])

Tow + QAT = TEEMI 'All right, you (pl.) may/can write.'
13yl + durugani = raddurugani (26.6.[1]; 26.7.)

0D + IHT = oY 'All right, you (sg.) may/can meet.
kalus + duvugani = kaludduvugani (26.7.)
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